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Lesson 9.2- SWBAT find the missing side of a right triangle

Kick off-

1) Find si coan @or the following triangle. 2) Simplify: V27 + V1% — V72
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Lesson 9.2- SWBAT find the missing side of a right triangle. (Day 2)

Kick oft-

1) Find sin B, cos B. tan B for the following triangle.
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2) Simplify: 24 + V18 — /54
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Methods to Solve for Sides

Pythagorean Theorem Trigonometric Ratios
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Directions: For each of the following, find the missing sides. Round your answer to the nearest tenth.
1) 2) Find the length of PQ if QR is 7 and PR is 25.
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Directions: Solve for the missing side to the nearest tenth.
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Directions: Solve for the missing side to the nearest tenth.
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Exit pass: Solve for the missing side of each triangle.
Round to the nearest tenth.
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